








Answer the Questions

1. What is the main idea of this story? 3. What does victim mean in this story?
a. Vampire bats are very small a. hunted animal
animals. b. warm blood
b. Vampire bats hunt for blood ¢. Dracula
night.
c. Vampire bats hang upside d
caves.

2. When do vampire bats look for victims? 4. Why does the vampire bat wait for the
a. atnight sun to set?

b. during the day a. so it can hang upside down
¢. anytime they want b. so it can frighten people
c. so it can find blood to drink

5. When would it be safest to go into a cave full of vampire bats?
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Find the product.

1. 6 2, 4 3 3 4, 5 5. 2 6. 5 7. 8 8 3 9. 2 10 7
x 9 x 3 x 4 x 7 x 9 x B x 9 x 8 x 2 x 9

1". 2 12 8 13. 6 14. 8 15. 7 18, 7 17. 5 18 (] 19. 8 20. 8
x 4 x 6 x 1 x 8 x 4 x 5 X 5 X 6 x 2 x 5§

21. 3 22 2 23, 4 24, 8 25, 4 26. 85 27, 3 28. 5 29, 6 30. 5
x 5§ x 5 X B x 3 x 2 x 1 x 7 x 4 x 2 x 3

41. 2 42. 7 43, g 44, 8 45, 2 46, 4 47. 4 48, 6 49, 3 50. 9
x 8 x 1 x 1 x 7 X B x 7 x 1 x 7 x 2 x 5

71. q 72, 2 73. 8 74, 3 75. 5 76. 9 77. 4 78. 2 79. 7 80. 9
x 9 x 1 x 2 x 1 x 4 x 4 x 3 x 1 x 2 x 3

81. 8 82, 6 83. 3 84, 6 85 6 86. 8 87. 4 L1 7 89. g 90. 7
x 5 x 2 x 2 x 7 x 2 x 4 x 2 x 7 x 2 x 1

91. 7 92, 2 93. 6 94. 6 95. 8 96. 4 97. 4 98. 5 99, 4 100, 5
x 4 x 4 x 7 x 3 x 5 x T X 6 x 9 x 3 x 4
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Find the product.

1. 6 2, 7 3. 3 4, 7 5. 9 6. 7 7
x 7 x 8 x 3 x 6 x 3 x 7

21. 8 22, 3 23 8 24, 3 25, 5 26. 2 27.
x 2 x 2 x 2 x 7 x 3 x 4

3. 4 iz 5 33 3 34, 2 35. 3 3s. 7 37.
x 6 x 6 x 6 x 6 x 5 x 9

51, 8 52. 9 53, 6 54, 9 55. 2 56. 5 7.
x 8 x 4 x x 9 x 3 x 8

61. 3 62, 4 63. 9 64 7 65. 9 - 2 67,
x 9 x 3 x 2 x 1 x 5 x 5

71. 2 72, 5 73, 5 74, 9 75. 5 76. 3 77.
x 2 x 1 x 4 x 5 x 8 x §

a1. 5 82. 3 83. 3 84, 6 85. 3 86, 4 87.
x B X B8 x 2 x 6 x 4 x 4
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Solve.

1. Adam’s garden has nine rows of pumpkins. Each row has two pumpkins. How many
pumpkins does Adam have in all?

2. Donald has five times more oranges than Brian. Brian has three oranges. How many oranges
does Donald have?

6. David canc
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